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1. Evaluate the values (858 5 43, £ 20 4.
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(d) Suppose f : (—2,2) — R is a differentiable function, f(1) = 1 and f'(1) = 2.
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2. Test for convergence of divergence (%G5 6 43, £ 12 43).
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3. Evaluate the integrals (5588 8 43, 3£ 32 4).
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(c) cos( y)dA, where Q is the trapezoidal region with vertices (1,0), (2,0),
o JO
(0,2) and (0, 1).
- ,
(d) ff ey gy here B = {(x,y,2) € R®|x?+y2+22 < 1}.
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4. Use § — ¢ argument to prove lim,_,x? = 9. (12 4})
5. Let f(x)=¢", forx €R.

(a) Find the Maclaurin series for f(x) = e*. (4 4)
(b) Show the Maclaurin series of f and f are identical for all x € R. (8 4)

6. The plane x + y + 2z = 2 intersects the paraboloid z = x* + y? in a eclipse. Find the
points on this eclipse that are nearest and farthest from the origin. (12 43)




